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IMPORTANT INSTRUCTIONS |

There are 150 Multiple Choice Type
Questions.

All questions carry equal marks. -
There shall be no negative marks for
WIDNE SaNSWETS. ®

Please attempt all'questions.

Please opt for \ad answer which
appears most s@itable.

An OMR answer sheet will be supplied
10 you separately by the Invigilator to
mark the answers.

All questions have four alternatives
each, out of which only one is correct.
You have to choose .that correct
alternative and darken the
appropriate circle with black or blue
ball pen on the given OMR answer
sheet.

For Example :

Question :
+t® @ 6 0O
2 ® ®@ @ ©

Strict directions are hereby given to
¥ou 1o refrain from correction of your
eariier marked answer in OMR
answer sheet By rubbing or
scraichang or usmg white fluid /
whitener In case of violation of this
instruction, “your result may ‘not be
processed or you may be declared
disqualified = the exam.

' x 9. Roll No., Question Booklet Set Code
g ““‘MR IR T F e e 9 e and Question Booklet Serial Number
*\i’ - W Fis wE - g should be written on the OMR Answer
: é k Sheet with the circle corresponding to
Rk TR AR S we-w ‘the digits be blackened with
mﬁm T w fad A / w5 Blue/Black ball point pen only
U W WE carefully and correctly.
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W A9 U9 3= T4
1 General Knowledge and Other Skills

(Q.Nos. 1 to 50)

1. Fo Fo FRUSH ¥ FNT 16 1S, 2019w286ﬁﬁmﬁw%mﬁﬁ@ﬁﬁm

gif o 2 |
(4) - FAST Foiss B) HemR S
= (€ wifg 9RERr (D) Eﬁ@aﬁ%?ﬁ

Among the following whom did K. K. Foundation on May 16, 2019 announce the

winner of 28th Bihari Puraskar ?

(A) Manisha Kulshreshtha (B) Léeladhar J agudi 7\
: %/ Keerti Parihar jg/ Note df the:n
| 2 129 2019ﬁﬁﬁwﬁﬁ54ﬁﬁﬁﬁammaﬁ?ﬁﬁwﬁﬁmw%7
(A) AT saras (B iy Oy
€ I = D) eemR ST
S54th Jnanpith Award was giveh to which English writer, in New Delhi on June
12,2019 ?
(A) Sunil Shrivastava : /;{E)// Amitav Ghosh
(C)+ Yuvraj Bhattarai (D)  Leeladhar Jagudi
3. YRGS FHM T Y g e A ¥ )
(A) IR o (B) T g
€  Geler == (D) FH &K T
Among tile following, who is the Chief Election Commissioner of India at
i present 'P |
< l (A) Ashok Lawasa @’ Sunil Arora
> i . ~ (C)  Sushil Chandra (D)  None of them

[ 906187 ] Set-A ST-28(II) : 2/48
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4. 9Rd ¥R A 31 1%, 20193#6@&&%313%5{?3@%3%@‘%%&% |
< fow o & forq e it g =

(A)  Bo 2000 ufT TE (B) o 3000 ufa A8
(C) %o 4000 ¥ T D) FTHISE T

The minimum pension provided to farmers attaining the age of 60 years to all

small and marginal farmers (SMF) by the Central Government from Méy 31, |

2019 is
(A)  Rs. 2000 per month 4@/ Rs. 3000 per month
) Rs. 4000 per month . (D) none of these

5, Wﬁ%ﬁ%ﬁ@%ﬁm%mzowmﬁ%%
(4) ¥RA (B) " FE
(C) SMNH (D). ZH | FE T

The winner of world mixed team badminton championship Sudirman Cup 2019
is
(A) India ((g/ China
(C) Japan (D) None of these
6,5 el G W 52 AN S W ANEE 45 W o Y AR 6 ger = 13 3
i ie Har ), & vswe e
(A) S : : B) 6
€ 12 O 7
A number being divided by 52 gives remainder 45. If the number is divided by

13, the remainder W111 be

T -5 & ﬁys

(C) 12 OF ¥

........................................

..................
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J2, ¥3 ¥4, Voiv o i dameadit )

o Iz ® ¥

© = Sk o %

Which of the following is the largest number ?

V2, ¥3 ¥4, ¥6

a2 B 3

© ¥3 o J6
ﬁﬁwaﬁaﬂaﬁmﬁsw%aﬁrmmwmmoilwﬁwaﬁwqﬁ
¥

| Aﬁ/ 70 B) 35
. 146 = (D) 105

The ratio of two numbers is 3 : 4 and their LCM is 120. The sum of the numbers

is
/7
iV () (B) 35
G W140 - (D) 105

%ﬁﬁ@f%so%ﬁﬁeoazﬁwqﬁwmsom%,a?ﬁww% -

(A) 120 ﬁy/ 150

(C) 180 (D) 200

When 60 is subtracted from 60% of a number, the result is 60. The number is
(A 120 ' (B) 150

(C) 180 (D) 200

---------------------------------------------------------------------------------------------

[ 906187 | Set-A ST-28(II) : 4/48
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o - 3k 15%@%%20%%@@%%?%, ot wfaer aifT e
(A 16 | B 20
(C) 24 (D) 25
If the cost price of 15 books is equal to the selling price of 20 books, the loss per/; . ’
cent is
(A) 16 (B) 20
€ . 2e /({ 25
11. 20 WETs =1 s 158 3 o 5 W = S 12 8pa) or wEmet w.
afrFa g
(. 16 - G Ts
e (D) 13
The average of 20 numbers is iS and the average of first five numbers is 12. The
average of the rest is
//ﬁr 16 | (B) 15
/ -
CT4 D) 13
12, ?T%A:B=3:4,B:C=S:73:ﬁ'{C:D=8:9?‘3A:DTE€'1=:‘W% ?
(A) 34 3 7:3
(C)*721: 16 A0 10:21
IfA:B=3:4,B:C=5 7and C:D =8:9 then A D is equal to
s (A) S ok (B) ¥:38
cre-21:10 D) - 10 221
[906187]set-A ............................................ ST-za‘n, ........................ . . s ..’é / y |
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14.

wn

T% HEA T gRE 160 HIEX & T Swh =1 STl 1 31 48 hex ¥ 0t 9

S T St et 36 o ¥ dwer  avey

(A) 327X (B) 8T
€ 4T D) 16 WX

The perimeter of a rectangle is 160 metre, and the difference of two sides is

48 metre. Find the side of a square whose area is equal to the area of this"

rectangle.
,}(y‘ 32m B) &m

(C) 4m (D) 16.m

TS = 5 [5el/521 # 9o ¥ 5o 5T 0 gen o 15 e o UR &R el g1 g
I g (diex 7) gt o

(A) 600 (lg)f 750

(C) 1000 D) 1250

A man walking at the rate of 5 km/hr crosses a bridge in 15 minutes. The
length of the bridge (in metres) i§ A

(A) 600 750

(C) 1000 : } 1250

ZT%AWWUT%, 3R cot A + cosec A =3l s.g?xA_ﬁTtﬂ?%

& 4

o

(D)

(A)

[o—y

o

Cl

Ut

If A is an acute_argle ar@ cot A3 cosec A = 3, then the value of sin A is
4

B i

(A) 1 (B) 5

0

<hCe \ D
(C) = \D)

.............................................................................. g LU CLO UL T LT TR - f LR RS T T i e P
[ 906187 | Set-A ST-28(II) €
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16.  TIRAT 1 qRe 3 U T 3 e o IEE T R et & el g

R, T @ o W e & o ;
@) : B T
(C) =T D) FHAPET

Pointing towards Garima, Rakesh said, "His father is the only son of my father."

How is Rakesh related to Garima ? - :
- (A)  Brother ABY” Father
(C) . Uncle (D} None of them

17. WHR 99 W & 15 X 999 51 aik 5= FLESTE020 W 961 39S I
5 [ B AR TeT R 25 Hex T FEESE T o dR T @
s R AT G w e )

(&) 5T B 103
(C) 407k (D) 80

Samir went 15 m to the west from his house and then turned left and walked

20m. He then turned east and walked 25m and finally turning left covered 20m.

How far was he from his house ?

A s5m (B) 10m

/é/ 40 m (D) 80m

18. WWWﬁﬁDEBFW‘éOWRABITﬁ 100 7&&T =T, a HAIR &t
7 forar s 2

iy a7 | /9;/ 72

() 90 (D) 160
..... : B L i
[ 906187 |'Set-A ST-28(II) 7 / 48
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HAIR be coded ?
. : : (A) 2l

(C) S0

19, FAFMAT -+ HA x FIE 4T+ H I T, A

8+4x2-4+2="?

(B)
(D)

72

160

If DEEP is coded in a symbolic language as 60 and RABIT as 100, then how will

B 2 B) 28

ey 32 (D) 36

If 'x' means ' -, '__-:_-"means'j_','—_"means'+'and':_'x‘i/1eans‘+"-then‘, 0 —
8+4x2-4+2=7

TR (B) = 28

4§?’32 D). 36

20. Frafefga wa & g« 98 & 71 @i

A). 4
Ky~ 343

e |

/

--------------------------------------------------------------------------------

[ 906187 ] Set-A
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729

Find the missing character in the following figure :

305
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AT 2
JAK, KBL, LCM, MDN, ?
(A)  OEP : 4§?’ NEO
(C) MEN (D) PFQ
Which option will take place of (?) in the following lettef pattern ?
JAK, KBL, LCM, MDN, ? |
(A)  OEP 87 NEO
(C) MEN _ (D) PFQ
ﬁnaﬁﬁtﬁf%Eﬁm‘ﬁsmqaﬁnﬁfagw(?;é%;ﬂﬁrnt#deizmﬁT3mPﬂ ?
16, 28, 31, 40, 50, 61, ? :
B 73 v B) » 77
€ 83 - (D) 81
Which number will take place of (?) in the following nﬁmber series ?
16, 23, 31, 40, 50, 61.?
e B) 77
(G) #783 (D)« 8‘1
(A) 16 (B) 15
© o9 - 7
[905187]Set-A ....... ST-2§(II}
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How many triangles are there in the following figure ?

/ﬁ/ 16 : B 15
c) o 7

2. RS R, AW, R R @ e St o
el ferar S & 2
@ T ' ® IR
© % ‘ ® =
If 'Sand’ is coded as ‘Brick’, 'Bﬁék' as 'Housse', 'Hogse' as 'Temple’, ’Tf:mple' as
'Palace’, then where do you worship ? T
/@/ Palace - (B) Temple
(@) Brick (D) House ‘
25. 1ol Wishfa® 9T § LIGHT 1 JGEFR frmr =0, & 3t wrr & SHORT &l g
- fomr s &
(A) FQMPR (B) QFMPR
(C) FQMRP . (D) QFMRP
If LIGHT is coded in a symbolic language as JGEFR, then how willl; SHORT be
coded in that language ? »
d) FOMPR ' B QFMPR
(©) FQMRP - (D) QFMRP
[906187]set-A ............ S T-zs‘n) ..................................... 10/48
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fret et a1 i “Tagia (PR fagi) === 7 fatfy Fior it R g =l 2

(&) Ho STERTA HEw B) T Hlo HRo IITH
(C) o o THo I . D) o TR g

Who said, "The Principles (Directive Principles) should be made the basis of all

the future legislation" ? :

W R eaa e 4/~ Dr.B.R Ambedkar
(© Dr.B.N.Rao D) Dr. Zakic.Hisain
Frfefed 4 9 F-a1 @Revee @1 sm = 2 2
® | B
i i o) e

Which of the following does not belong to solar System i

JA) Planets (B) Comets

L((2) Asteroids ' /j» Nebulae
mwfq@ﬁwﬁmﬁqﬁﬁﬁwnéwmw% ?
(A) r%mﬂsz (B) TTIIIHIEE
C TR (D) AR

The plants which grow on saline soil are known as

w xerophytes (B) hydrophytes
(C)  succulents g} ha.lophytes.
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29.

-%Red B) Green

ﬁwﬁ@%&hww@mmm%wmﬁwﬁm@m'w
ST € 2

(A) = : ' B =z

(€ U D Fen

Which of the following colours of light undergoes the least deviation while

passing through a prism ?

(C)  Yellow (D) Biue
30, v 7 T ST g e 2w A B s
(A)  WRa - B e
€ == O T s i
The world's largest Telescope is in which country 2
(A) India . (B) Japan
,eg, China (D)  United States of America )
81 forear wateR feaw” w9 aEE ST Y
(A} s 5 B) 5
Q.95 g i (D) 5HE
The 'World Environment Day’ is celebrated on
| //)(a(/ 5 June 0 5y
(C) | 5 May D) 5 Mai'ch
3 aﬁm%wmﬁnﬁwﬁﬁ@ﬁ@%&%w%@ﬁmﬁﬁ ?
(A) YR FT THU (B)  URTEH |
(C)  3fiaRe wEda (D) U .. .
f'éb'g'i'é’; ] Set-A ST-28(1I) ' 12 /48
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For which of the following causes, we cannot see during a fog ?

ARSI
.,(»z’;f/ Scattering of light : (B) Reflection
(C) Internal reflection | (D) Refraction
33, TrefetEd § @ wH-a1 U oRe (o) Fiae Wi & ¢ 2
1 while
@) ez ®) e
1 (€) | D) AIERECE
! Which of the followiﬁg represents a billion characters'™?
(A) Kilobytés (B) » Gigabyte,s
(1(/?)/// ‘Terabytes : | (D) Megabytes
34, T Wl YR ST SF-H Al 2
o ST | ® . =
© e (Fies) (D) efTgA
What was the early capital of Magadh ?
(A)  Vaishali (B) Champa
/t/)(,// Rajgril.la (Girivraja) (D)  Pataliputra
15 Tyefefen == 99 F SE-a 399 T & e el g e 7
(A) IENE (B) TIAIA
© o o e (D) ETEEH
E Among the following fuels of energy, which is the most environment friendly ?
(A) Biogas (B) Ethanol
(VC) CNG /9)/ Hydrogen:
;48 ..........

.......................................................................

[ 906187 ] Set-A ST-28(II) | . 13 /48
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36.

‘ﬁswﬁnégﬁarﬁav'i‘wﬁqmw%?
(a) 29 & | 2

() 2WERT D) 2=

: The‘ ‘World Wetlands Day' is celebrated on winch day ?

37.

38.

(&) 2nd March ' . (B) 22ndMarch
(G} - “2nd Februacy-sie i A ndMay ®
U Y’ T @ | G d )

@) e ®) yﬁ
© fe D)

“Durand Cup” is associated with which of the following games ?

(A) “Polo B Football

(C) Cricket ‘ ' . (D) Hockey
“Wﬁnmaﬁwwtﬁsﬁw@m"ﬁmﬁm?
A) T A (B) - wE f&

(€ { F==oiet =ew (D) =T TR foes

"Swaraj is my birthright and I shall have it.” Who said ?

(A) Mahatma Gandhi (B) Bhagat Singh

~ (C)  Jawaharlal Nehru ,% Bal Gangadhar Tilak

39.

(C) I = il v fagiq D) T F &S

Rt W T A A e v st e o o o
(4)  HHEEER (B) TR 1 Hifer iR

[ 906187 ] Set-A _ ST-28(1T) 14 / 48
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41

In ?onstitution of India, Right to Free amd Compulsory Elementary Education is

included in the'sec’Fion on
(A) Human Rights
% Fun(iamentél Rights of citizens
(C)  Directive Prinbiplés of States Palicy
(D) | None of these :
HFE YRR # R (R o S e d o
(A) - &~/
(&) e

- The number of chromosomes in the

(a) 48
<) 44 ' D) 42
Wﬁaﬁm%mﬁ#{?ﬁ%?

@) e

. (B) Y [9uE Iwisl & 991 3=

(C)  TiHEH & FEET

(D) T T TEE & HIE

Thé Spednelblb el by thi
(A) Council of Ministers .

(B) All SpeakeArs of State Legislative Assemblies

/(C/ Members of Lok Sabha

(D) Members of Lok Sabha and Rajya Sabha

[ 906187 | Set-A ST-28(1I) | 15/ 48
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42, FRATEEI S TE @G E A ISR E 2

@ 9= | : ® =G
() e ¥ fga e D =

Which of the following is a major source of oceanic salinity ?

(A) Land /9/ Rivers

(®)] Ash from volcanoes = (D} Wind
43, | fe TERIR AR mnwn F HH-G TEEE ®
(A)  HeTeeRl (B)
(© FE | 9 9 - 3l - TS
Which strait connects _;Rgg_ﬁa_and Indian Ocean ?
(A)  Malacca (B) Bosporus
' % = Hormuz (D) Bab-el-Mandeb
44, ﬁ%ﬁﬁaﬂqumwm% 7
(A) HeETe | (B) ArHeH
© T E o D) FTHE S Tl
Which of the following is a -Harappan.por‘vc ?
A Mahaéthangarh (B) Nagapattanam
/g)/ Lothal (D) None of these
[ 906187 | Set-A ST-28(II) 16 / 48
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A 465 TSR, 25 W @ 12§

B 395 FH%, 25 WM W 8 G

© 372 FIWR, 22 WM T 12 =

D) TFH F HE A

At present the Constitution of India commpriscs
&7 465 Articles, 25 Parts and 12 Schedules

(B) 395 Articles, 25 Parts and 8 Schedules

(C) 372 Articles, 22 Parts and 12 Schedules g
(D)' none of these . ©
ve  FrteiEd T ¥ R @ W A 59 S T A Eh e 7
) TaferH | By wie
©) TeaH o D) SHEHEH
Which of the following is not used in making solar cells ?
()  Silicon . % Platinum
7 Galium - (D) /Germenium
47. Wﬁwwﬁma@zmﬁq&ﬁw%mﬁwﬁa% ?
AP FBE 15 . B) 3% 14
(C) TR 16 D) BT 17
Which Article of the Constitution of India is related to Right to Equality before
law ?
e
(A)  Article 15 ; /(B%rticle 14

(©) Article 16 - (D) Article 17

......
......................

[ 906187 ] Set-A : ST-28(11) | _ 17 / 48
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49.

50.

[ 906187 ] Set-A : | ST-28(I) : 18 / 48
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(A) To Teo Jo B T T Jo
5. Wg - ~ D)  FT™ FHe (Ho o)

The brain of any computer is

(&) ALU | &'/ CPU

(©) Memory (D) Control Unit (CU) -
T AN W S =9 4 @ et s antt o .
&) FEEEE e . q@mﬁgﬁ

© i i £ o) | ﬁm"rﬁv‘rﬁaw

At constant temperature, the speé& of sound is maximum in which of the
followmg gases ?
(A)  Hydrogen & Nitrogen

- (C) Oxygen . (D)  In all these gases equal

g aﬁz%mm%mm TLE FAEEEE aﬁﬁmaﬁmwﬁﬁ

; % >
(A) TR 332 B) =R 370
© DT 371 (D) ST 395

'N atio1:1al _Emex.-gency’A ‘may be declared by the. Presideﬂt of India in line with
,& Article 352 ~ (B)  Article 370

(C)  Article 371 : (D)  Article 395
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53.

54.

.......

.......................................................................

FIgLT TEA
COMPUTER SCIENCE
( Q.Nos. 51 to 150)

UNIVAC &

UNIVAC is

(A) Uni_versal Automatic Computer

(B) Universal Array Computer

(C) Unique Automatic Computer

«(’W Unvalued Automatic Computes

(A) Arithmetic operation

(C) Storage and relative

_Ush Computermmﬂqtﬁ‘éﬂﬁ:%

(B)  Logical operation

o wE e

The basic operations performed by 2 computer are

(A) Arithmetic operation

(@3] Storage and relative

(B) Logical operation

ég/ All of these

Difference Engine %l FTsFRE & £ 2

Who is the inventor of "Difference Engine" ?

(A)  Allen Turing

(C)  Simur Cray
Switching STV % &4 H Micropr

(B) Charles Babbage

%/ Augusta Adaming
ocessor ¥ ‘Tﬁ?ﬁ & Computér & fetu € ?

Microprocessors as switching devices are for which generation computers

(A) First Generation

(C) =~ Third Generation

(B) Second Generation

W Fourth Generation

.......

ST-28(10) 19 / 48
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55. DOSH [ AH &

DOS stands far

6/ Disk Operating System (B)] Disk Operating Session
(C)  Digital Operating System - (D)  Digital Open System
56.  ASCII #iR EBCDIC @S0 Character Coding System & | EBCDIC &1 [T A1 %

ASCIlI and EBCDIC are the popular character coding systems What does
EBCDIC stand for ? ’ . @

: V@/ Extended Binary Coded Decimal Interchange Co&,e
(B)  Extended Bit Code Decimal Interchange Code
(C) Extended Bit Case Decimal Inter-chal.;tg Code
(D) Extended Binary Case Dechﬁal Interchange Code

57. Computer & foar (=@ S ¢ 2

Who is the father of Computer ?

(A) Allen Tunng (B) Simur Cray
(C)  Augusta Adaming /ﬁ/ Charles Babbage
s8¢ wrewiE e 31 SeRT &uar AR el ¥ »
(A) tracks per inch of surface (B) bits per'i'nch of tracks
(C)  disk pack in disk surface O) FTHE

Storage capacity of magnetic disk depends on
| (A) fracks per inch of surface % bits per inch of tracks
(C)  disk pack in disk surface (D) all of these
59. aW%Mainmemory%.' i

(A) - Primary and Secondary (B) Random and Sequential

/',29/ ROM and RAM - (D) sﬂﬁ@mﬁ

[ 906187 | Set-A | ST-28(11) : 20 / 48




The two kinds of main memory are

(A) Primary and Secondary A =  Random and Sequen_tiaI
E (C) ROM and RAM ‘D) All of these _b .
80. TUF Storage meaﬁ@%ﬁﬂ’ﬁ‘imﬁmaﬂ#%fﬁqwm
. A storage area used to store data o compensate for the difference in speed at
What does which the different units can handle das= is e~ %
(A)  Memory Buffer o @
(C) - Accumulator . D) AddreSs -
61. T Y R fovaar @ g S . S8 e ey
(A) Accﬁracyf- keliability
(C) ' Diligenece 7; » M Versatility
Compgter is free from tiresome and beredom. We call it
(A) Accuracyy ‘. )I)// Reliability
(C) Diligenece (D) Versatilft&
62. Integrated Circuits (ICs) g dgt = Computer ¥ Ffyd & ?
Integrated Circuitsb (ICs) are related to which gengraﬁon of computers ?
(A) First generation (B) Second generation
W Third generation ‘ (D)  Fourth generation
63. CD-ROM & U% '
(A) Semiconductor memory (B) Memory register
(C) Magnetic memory (D) 4 9 HIE TEl
| CD-ROM is a |
i (A)  Semiconductor memory B) Memory register
‘ /9/ Magnetic memory ' DI  None of these
----- % [9061;7"']' Set-A | s*r-mﬁ | : 21/48
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67.

..................

[ 906187 | Set-A ST-28(1I) : : 22 / 48

T hybrid computer

(a) Tl Fgex Star &

(B) TN FFEX S ¥

(© 3H fefea o T s 3= &
D) T @

A hybrid computer

(A) Resembles digital computer
(B) Resembles analogue computer

&/1/ Resembles both as digital and analogue computer . B

(D)  None of these
mmﬁmﬁsﬁzmwmzm?,ﬁ@ EBCDIC gl Srar

€ 7

Which type of computer uses the 8-bif et 3= calied EBCDIC ?

{A) Minicomputers 3 (B8] Microcomputers
'% Mainﬁ‘amé computers (D} Sapercomputer
Computer T ALU ............ ﬁaﬁaﬁaﬁawﬁ%ﬂ%l
The ALU»of a computer responds to the commands coming from
(A) Primary memory .& Control section |
(C) © External memory : (D) Cache memory
7o gl % HELR H T&F T2F o1
(A)  Transistors : (B) Vacuum Tubes T4l Valves :
(C) Integrated Circuits (D) ¥ 9§ FE 7@
Chief component of first generation computer was
(A)  Transistors : % Vacuum Tubes and Valves
(©) Integrated Circuits o2 (D) None of these
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....... 5 FR GRS B UF S5 £ = S9gien feaRd % a9 gE &
FEF-AEE F GO WS S 8 |

........ is a combination of hardware Mﬂfacilitates the sharing of

information between computing devices.

(A) Network ' ” P@ripheral

(C) Expansion board (.} M

1Byte=? »

,%/ 8 bits : = 4bits

- e T

{€) 2 bits , D} 9 bits ad ¥4

et 1 R for 1C T SR At g = S A ey @ 7

(A)  SSI 8 )\ MSI

B T e (&) T (B) JAT

Which of the following IC was used in thad geheration of computers ?
(A)  SSI R B MSI

© 1sl ' £ Both (A and (B)

IR, I HE e #R 9% S= Fe=ey B GHT A §

(A)  organization of data 8] programming standard

(C) coding . D)  program design ‘

Term, Data Struc‘ture refers to .....e ..... and interrelationship ’between them.
%‘ organization of data | (B) programming standard:

(C)  coding ' = (D) program design

22T T H, B2 e YR o & A 2

In data structure, data may of ......... types

B 1 B 2
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(A)  numeric variable fﬂ// string variable .
(C)  logical function

S A e Rl
Hyperlinks, T& worg document ¥ ... = 3w o Tl €|
: : e :

(A) imwmddoamu:m

a webpage on 3 Company Internet
(D) all of these

-

- 3 clip art, Insert 7 T=3 &

(A) ' Insert choose Pictures 9 Clip Art q

(B) Choose Clip Art icon, ¥ Drawing toolbar

(€) T & gt




® i

Tl

78.

.

80.

207

(A)  Insert choose Pictures then Clip &t

% Choose Clip Art icon from Drawamg toolbar

(C)  All of these

(D) None of these

frfefad = @ ® o1 Twes G S = = == = =i g
(A)  HE@HIOT W IRGH = mi‘m
© R e a)g mﬂzqﬁ

Whlch of the following cannot be dome dnenment version ?

/(W Modifying a version - eﬁ\ Deleting a version

(@) Opening a version None of these

, mmwﬁﬁ%aﬁ@'ﬂﬁ%ﬁ?mrﬂm%

When you drag selccted text, you can

(A) Delete text (B) Link text

(C) Copy text e M - Move text

A9 Uh word document TES 5 8

(A) Formatting & faq (B) Special characters % fow
(Cj Phrascs & 1T D THE ot

You can search in a word document for |

(A)  Formatting | | ' ,ﬁ/ Special characters

(@) Phrases %’ All of these

9 frd e | A Sig wehd &

(A) T e feHiw A e W

(B) Uk faATh &3 ol 379 X W =94 37U ol &
© T F o ¥ Ty W |

D) THI

[ 206187 | Set-A ST-28{II) ' ‘ 25/ 48




You can add a date to a document by

(A) Inserting a text date

{C} T\'pmg the dan: manually

‘BV All of these

81. End Key ‘
(A}  Cursor ¥ line 3 37 7% goilal &
B Curser ¥ document = 3 0% JoTAT &
DI Cursor ¥ scréen = 35 7% Tl &

Bj Inserting a  date ﬁeld that w111 update amnmanaa.lly

End KC_V ; & - ‘i‘..’; ;

(A) Moves the cursor to the end of the hne_'
% Mowes the cursor to the end of m&document
{@’ Mowes the cursor to the end of the paragraph

(D) Moves the cursor to the end of the screen

82. "Ctrl + Page Down’" =1 S92 =31 & &

(A) Cursor = 0= paragraph:ﬁ% T & fou
(B) . Cursor ¥ TF page 79 9eiH & [T

(C) Cumrﬁf@ﬁne%aﬁﬁa?m

(D)  Cursor i TF screen =14 9elH & [T
"Ctrl + Page Down" is used to

(A) move the cursor one paragraph down

ﬁ/ movc the cursor one page down

©) . move the cursor one line down
(D)  move the cursor one screen down
[ 906187 ] Set-A ST-28(II) 26 / 48
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85.

*Ctrl + Down Arrow" ¥l SUdIT {31 =l &

{a)  Cursor &l 5 paragraph?i“!%iﬁ% =
(B} Cursor.EF\T U line He ge= %ﬁﬂ

(C)  Cursor % T page A9 Te7= = =

(D) Cursor Ea) Uch screen a9 o= = %Q
“Ctrl + Down Arrow" is used to

(A) move the cﬁrsor ‘one paragrapi down

,,{% move the cursor one line dow=

(®)] move thé cursor one page dowm y ‘

(D) move the cursor one screen
ﬁl:f T g % non-linear Al 3
Which one is a non-linear data stnlc!.; ?
(A) = Stack B)
(C) Linked list % Pree

vCtr] + Tefl Arrow" key T ITANT 5 =l ¢

Queue

(A) Cursor & linea??{[(a ﬁﬁﬂﬁ%ﬁq
(B) Cursor ! Th word T W T = =
(it Cursor & Uk paragraph 390 = =2 & o
(D)  Cursor &l TH parégraph A9 & == &5 v
"Ctrl + Left Arrow" is used to - .
(A) © move the cursor at the beginning of the line
,W move the cursor one word left
= (G move the cursor one paragraph up

(D) move the cursor one paragraph @own

[ 906187 ] Set-A ST-28(0)
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86. Abstraction % Hdeid &

Abstraction means

A& Summariza tion (B) Elimination
(C) Hiding (D) Casting
87. “Ctrl + Page Up" key 31 ST gl &
(A) Cursor I TS page W o 91 & ¢

B) Cursor® @pamgmphW"ﬁ s & fou

"C' = T screen IR @ M F ferw ;

D) Cursor M EneIRATAF o 4 7N @
. ):_‘_;_ ;“F’%E{’:E»é‘

"Ctrl + Page Up” is used to p:%,.‘_,

, & move the cursor one page up Y‘
(B) move the cursor one paragraph up
(C) move the cursor one screen up
(D) move the éursor one line up .
88.  Polymorphism ........... FI T foRivar &
: éﬁlymorp}ﬁsm is feature of
(A) Procedural programming = (5 SQL
(C) Non-procedural programming ﬁ'/ Object Oriented Programming
89. "Ctrl + Home" key &1 39GRT Bl §
(A) Cursor % document & & 4o 5 % fom
(B) Cursorﬁline%?l?ﬁﬁﬁﬁ%fﬁq
’ | (C)  Cursor &I paragraph%?l’?\ﬁéﬁﬁ%%’fq
| D) T EFH
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90.

91

“Ctrl + Home” is used to

,1% move the cursor to the beginmemg aff Document

(B) move the cursor to the beginmumg of Line

(C)  move the cursor to the beginmamg af Paragraph

(D) all of these

~Ctrl + End" key %1 SUaIT &Il &

(A) Cursor % line & 3id o& == m

_% Cursor @1 document F 3da= === = v

(<) Cursor Eai paragraph & & === é{ fou

(o) ¥ W

"Ctrl + End" is used to

(A) move the cursor to the end of e &

(B) move the cursor to the end of dncament

(C) move the cursor to the end of Waph

(D) none of these : :

ofx T B FE T =S m%aﬁmﬁmﬁa%tﬁﬁﬁéﬁ qISZ T
T E 7

How can you update the values of formmia cells if Auto Calculate mode of Excel

is disabif®

(A) F8 ﬁ/ F9
D)

© F10 F11 v
aﬂqﬁm@zmaﬁﬁ%ﬁmmmmﬁaﬁtm%@ﬂﬁ@ﬁa}

‘Wﬁm,maﬁwmmmtwmmwwww

gt ?
You want to set such that when you type Baishakh and drag the fill handle,
Excel should produce Jaistha, Aashadh and so on. What will you set 10 effect
that ?

Custom List (B) Auto Fill Options

(C) Fill Across Worksheet D) Fill Series

(906187 | Set-A T sT-28am | ~ 29 / 48
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93. &ﬁ@éﬁﬁﬂﬂ%{amﬁqmwﬁ@ﬁﬁmmi ?
(A] Double CAL indicator on status bar

{B; Go to Tools >> Options >> Calculation and mark the corresponding radio |

bution
iC (A} 79 (B) I

= = = :;Q:

U

Where cam you change automatic or manual calculation mode in Excel ? .
s ———— Mo Bl e Y

, 7% &
e Double CAL indicator on status bar :

B) Go to Toals >> Options >> Calculation and markythe corresponding radio
button '

,ﬁf Both of (4) and (B}
(D} Nonc of these
., 94. meﬁﬁgm%@ﬁmmmm»ﬁ%?

How can you show or. hide the grid lines in Excel Worksheet ?

(A) Goto Teols >> Options >> View tab and mark or remove the check box
named Gridline

{Z)"" Cliclk Gridline tool on Forms toolbar

<Cr” Both(a)& @)
(D) None of these

95, _ﬁw%{f@aﬁﬁﬁqmmaﬁqmmqmwﬂmmm%?

(A) Formula Bar (B)

S Status Bar
: % Tool Bar (D) None of these
[ 906187 | Set-A ST-28(1I) 30 / 48
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mmmﬁgwﬁﬁmmaﬁmﬁ%aﬁcm+xwﬁ%ﬁ@m
€2 |

(A) Selected cells % cell content, o= = & Z%< clipboard T stored ARSI

B
(B) +d ceﬂsmﬁwmﬁi
(C) aaﬁﬁcells%%ﬁﬁﬁrﬁ%maswaﬁtwﬁﬁﬁwﬁ%
(D) .aaﬁﬁceus%%ZWmﬂﬁmmﬁﬁiﬁﬁ%

What happens when you press Ctd + Xaiter selecting some cells in Excel ?

(A) The cell content of selected o=ills disappear from - cell and stored in
clipboard

),B‘/; The cells selected are marked foroatting ®
(C) The selected cells are deleted amé the cells are shlfted left

(D) The selected cells are deleted
frfefEe ¥ | S ¥ [Gwcd Pasie S

are shlfted up
dialogboxﬁwq?&% o
Which of the following options s le in Paste Special dialog box ?
(A) Add =,  Subtract
AW Divide D) SORT
mwﬁ@mﬁ%imiwﬁ:ﬁrmﬁ ?
(A) Cut and Paste
(B) Edit >> Paste Special >> Transpose
© (&) T @) 3
D) T A
Which command will you choose to convert a column of data ixno» row ?
(A) Cut and Paste
(B) Edit >> Paste. Special >> Transpose

/Both A) and (B)

(D) None of these

e
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99.

F9 fF8 worksheet UC THIT cells § &4 W3 ¥aie = o1 @i & ?

(A)  Data %I Wiafez THT cells § &1

B) ﬁéda@aﬁﬂﬁ&mcensﬁﬁ@i

iC) text & ol EFE o1 399 abbreviatitm*? 3l
(D)  text I format H & &q HIs THF =& &

It is acceptable to let long text flow into adjacent cells on a worksheet when

(A)  data will be entered in the adjacent cells
,% no data will be' entered in the adjacent cells
(C) there is no suitable abbreviation for the text

(D) there is no time to format thetext o . @

100. el WX § @ W ST I A § 6, T e § 2

(A) Doctor's symbol (Big Plus)

(B) Small thin plus icon

(®)] Mouse Pointer with anchor at the tip

(D) T E FE T

Which of the cell pointers indicates you that you can make selection ?
(A) Doctor’'s symbol (Big Plus)

(B Small thin plus icon
/;J’ Mouse .Pointer with anchor at the tip

(D) None of these

101, UeT UREeX 8 | FH 39 w41 £ T 29 @A W FHA © ?

(A) Doctor's symbol (Big Plus)
(B) Small thin plus icon
(@) Mouse Pointer with anchor at the tip

(D) Nonc of these

————————. e —
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Which of the cell pointers indicates S ws can fill series ?

’W Doctor's symbol (Big Plus)

(B) Small thin plus icon
(C) Mouse Pointer with anchor 2 S &p

(D) None of these

U Yiie W alRy do 3 e = e
(A) U ST W ERT = T =% a1eE SR AN
(C) Ueh fosiferT STEX gRT D) RS IR TR
On an Excel sheet the active cell is mmiested by *
(A - ndotied be | /ﬁ/ a dark wide border

{C) ' a blinking border D) by italic text

A F S A TS 5 = - et 2
What term describes explanatory et attached to a cell ?

(A)  Context B8] Callout

/ﬁ/ Comment {D) Dialog

104. 51 4 @ =1 o= 2505 & 89 cells # 937 8] SUT ?

- Which of the following will not select all the cells in a document ?

(A)  Using the Edit — Select All mess &1 5317 gRI
(B &EIE W Ctrl + A SIS

ﬁ%f Wl 9 AT mouse button == =% f9oieh ¢
(D) ¥ A HIE T

(A) Using the Edit — Select All menu
(B) Pressing Ctﬂ + A on the keyboard
k%/ Clicking three times with the mght mouse button in the spreadsheet :

g/ None of these
_ - !
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105. kf*:f?norkbooquq'aa$ﬁ7ﬂ{m e
The default style for new data keyed in a new workbook is ?
(A) Comm.a : ﬁ’ Normal
(C) Currency (D) Percent _ - _
106. 3R AW ......... T E 7 cell I TR 1 fwEaE ¥ w9 § @R = i
Hyoupress . ________ . the cell accepts your typing as its contents.
(A Tab (B) Ctrl+Enter |
A4 Enter (D) Alt+Enter /% @
107. Wigmmawwgw% ?
Which among the following is associated with Efcel 9’
(A) Graphic program (B) Word Processor
(C) Presentation ’/ﬁ‘/ Spreadsheet
‘108. Fe 3 @ ' =¥ Function ¥ 5% $RE F TH TF G IeT6l TF IROTH &
€Y 4 Tl (Truc) 3 76T (False) K@@ ¥ 2
(A) NOT E: (B) OR
C) ¢« IF (D) AND
Except which of the following functi;)ns, a_formula with a logical function shows .
the words "TRUE" or "FALSE" as a result ? -
(A) NOT ‘ (B) OR
% IF (D) AND
109. T #, ffafad 3 § =7 o 3y 97 e 78t § 2
Which of the foﬂoudng is not a valid zoom percentage in Excel ?
(A)‘ 10 (B) 100
300 4 @ 500
[906187]&%-A L e o
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R &

112.

113.

207

Conditional Formatting ©IF] F{d @52 &= ... ¥ faoms Rafg =t 9= =

5 &
W seE a8 |
© (a7 @) I o> FHAEE R
You can check the ;:onditions agaamst —........ when applying conditional
_formé.tting.
W Cell Value &  Formula
' (©) Both (A) and ®) o None of these o
fret B @ T oW Ao § T T e E 2 A
(A) UID §=AT = L0
(C)  Account T ﬁ PAN
Which of the following is a primary key = 2 student table ?
" (A)  UID number y " Admission number

(C) Account number - DY PAN

g # & -1 Th o SQL Command ¥ ?

Which of the following is a valid SQL command

' (A) cin , (B cout

W tuple | (D) select

e Swau g 3 fow =5 Power 333 (View) 999 =BT ST HAT§ ?
Which PowerPoint view works best for adding slide transition ?

(A) Animations (B) Chart Wizard

% Transition Wizard [} Auto Content Wizard

[ 906187 ] Set-A ST-28(11) , 35 / 48
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114. Objects &

Objects are
(A) Design of function [B) Creator of data
}% Instances of classes (DY Program block

115. 39 U% Embedded 184 chart object ¥ T72= 57 559 ¢

(A) - Double clicking the orgaﬁizaﬁon chart object

(B) Clicking edit object

(C)  Right clicking the chart object, then clicking edit MS—Qfgaf?ization Chart

object '

: . ¢
(D)  (A) T (C) S

You can edit an embedded organization chart object by

| (A) Double clicking the organization«chart object

(B) Clicking edit object

/(ﬁ/ Right clicking the cﬁart object, then clicking edit MS-Organization Chart
' object

. (D) _ both (A) and (C)
116 #Boolcan SISTINE § AA ST &

In Boolean algebra A.A is equal to

A A B 2a
(C) = A? . ,@/1.

117. WSS €Y I {8 menu & G T ST @1 & 2

Slide sorter can be accessed from which menu ?

%/ . View (B) Edit

(@] File (D) Insert

[ 906187 ] Set-A ST-28(11) 36 /48




118. Boolean SISTIUIA B AND operator 31 5% £

In Boolean algebra the function of AND operator is
v D5 -
< / : : o -
119. T% T4 formatted Yot M & forg == % = =1 g s wwar & 2 '

What would you choose to create a pre-farmatted style ?
(A) Format # Slide ]aybut :
(@] Slide sorter view D8  None of these
120. TR logical FRT ¥ @ H T Boslean F5E T + Fohe], SR @1 T € 2
(A) OR : B8 NOT
(C)  NOR ) AND

Which of the following logical operations is represented by the + sign in Boolean

algebra ?
(A) OR B NOT

“(C) 'NOR ,9}/ AND

121. Custom Animation task pane &1 3937 =<7 gU U 7Id U9 WTe o Yaioeiidd
&H & T1ET

(A)  double click the motion path [B) click the show effect button

(C) click the play button D) . 3?13[ q 7=!'7\T5sr BG

To preview a motion path effect using the custom animation task pane, we

should
(A) double click the motion path ,W click the show effect button

(&) click the play button : (D) None of these

[ 906187 ] Set-A | ST-28(I1) 37 / 48




207

122. 7 4 %1 W sQL F DCL Command ¥ 2
Which one is a DCL command in SQL ?
. ).3// UPDATE . (B) SELECT
(C) DELETE : (D)  GRANT -
123. =9 39 IE WIE o4 = ¥ AR NISE ¥ =R ¥ AR #K ) E o v
HIEn a2 .
What s the term used when you press and hold the left mouse key and move
the mouse around the shide ? ‘
(A} Moving 55/ Dragging |°
(C) Monitoring - (D)  Highlighting
124. Freafefien % 3 2 8 SOL command 227 3w IEAE P 7 T & 2
Which of the following SQL commands is used to view data ? .
(A) CREATE (B) INSERT
/@/ SELECT (D) UPDATE
125. T=feras 5 = T A wE o d ol e & e g wee 37 s
T 39E S % o 998 AW qE 2
Which of the following views is the best view to use when setting transition
effects for all slides in a presentation ?
(A) Slide (B)  Notes page view
ASF  Outline view (D) Slide sorter view
126. Math.h ¥ T
Math.his a
(A) Dcrived data type 7 (B) Function
ﬁ}/ Header file (D) Built-in data type
[905187]s¢tAw ST = e
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(B)

©)

(D)

(A)

@A)

127. Wmmmmwmt

had current slideaﬂ%‘m
it Tegel o Ty
gt =% vl S T 49K 5= £ = =¢

The selected design template can be appibed

{o current slide only
to all the slides
to all the new presentation yo= create

all of these N

128, wge feumEd maﬁmmii?mw%

S TE A ® ‘a

Auto Content Wizard is just the wazard version of Slide Design

Slide Design docs not provde sample content but Auto Content Wizard

provides sample content 00

Slide Design asks your choice i steps but Auto Content Wizard does not

let you make choices

The difference between Slide Design and Auto Content Wizard is

Both are same
Auto Content Wizard is just the wizard'\_rersion of Slide Design

Slide Design does not provide sample content but Auto Content Wizard

provides sample content too

Slide Design asks your choice in steps but Auto Content Wizard does not

let you make choices

e
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129.

130.

131.

132,

[ 906187 ] Set-A ST-28(II) 5 40 / 48

SN0 ———— S 55 9 3 8 § S 8 S

e 7 1 gven! S oo, wige wasz = S ghowd fren wed § 2
In which menu cah you find features like Slide Design, Slide Layout etc. ?
(A) Insert Menu /(49'/ Format Menu

(C)  Tools Menu "W Slide Show Menu

I |1 Y TH THHEH IS, HH TS99, TRE transition I e T2
AR ? '

Which menu provides you the options like Animation Scheme, Custom
Animation, Slide Transition ?
(A) Insert Menu (B) Format Menu

,%/ Tools Menu (D) - Slide Show Menu
ST fafs S22 F71 §9% F9H WEF %M U single coherent FEET w9 & &t

When collection of various computers seems a single coherent system to its
client, then it is called
%/ computer network (B)  distributed system

(C) both (A) a1_'1d (B) (D) none of the mentioned
3 feay Jeas 4 &, R ’
(A) T 9 H UF oo R o 9Fdt &
B) SH RETREI S E TR T A @
(€) faivw fearsar & = archt uhkars & pPDTH & & -
(D) A9 F B T
Two devices are in network, if
(A) a process in one device is able to exchange
/)@‘f a »pro‘ces's is running on both devices
(C) b‘ PIDs of the processes running on different devices 'are same

(D)  none of these
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133, Pt & ¥ B A1 SRR Sed e 3 Szdw & 9 R S T 2

Which one of the following computer networks is built on the top of another

network ?
(A) Prior network (B) Chief network
(C) Prime network 61/ Overlay network

134. S =Z5= = nodes €
(A) the computer that originates the data

(B} the computer that routes the data

(&) the computer that terminates the data
D) FTEITH

In computer network nodes are

(A) - the computer that »originates the data
<(§V the computer that routes the data

(C) the computer that terminates the data

(D) - all of these
135, HOR 49 Szaw W wE AEE] g W R ST §

(A) broadcast network H (B) unicast network H
(©) multicast network " (D) 37'1'& ks ﬁ'é' Bl
Communication channel is shared by all the machines on the network in
,ﬂ/ broadcast network - (B) unicast network
(C)  multicast network (D)  none of the these.
136, v Teh IUSHIUT & Al packets H routing RT3l processing FH ATF
Eie) packets & forward F & | '
(A) Bridge (B) Firewall
(C)  Router : D) T e
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.......... is a device that forwa_rds packets between netwg;ks by processing the
routing snformation included in the packet.
(A) Bridge (B) Firewall
/&Cj:' Router ' (D) all of these

137. 321 = 09 41 WY ) F8 ST S

The structure or format of data is called

vﬁ Syntax (B) Semantics

(C)- Struect {D) Ndne of these
138. YR FR FEE H AT GGN ... ZE=vE ° e §)
Communication between a computer and a keyboérd inWolves ...........
transmission. | :
' (A) Automatic W Half-dtﬁ)lek
(C) ull-duplex {D) Simplex

139. =1 7 3 5= v= 9298 v feamw 4 52

Which of the follwing is not a network edge device ?

(A) PC (B) Smartphones
/(C()/ Servers (D)  Switch
140. f5a Transmission HiTedl & U A2as H §99 3ANMF transmission speed & ?
Which transmission media has the highest transmission speed in a network ?
(A, Coaxzal cable (B) Twisted pair cable
4Gy~ Optical Sbre (D)  Electrical cable

141, TEEFE 2
(A) A single network
(B) A vast collection of different networks

(C) Interconnection of local area networks

(D) T 9 $IE Tl

............................................................................
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What is internet ?
(A) - A single network :

% A vast collection of different networks
(C) Interconnection of local area networks

(D) none of these
142. TR A G S O FGX A TE v F FHEC ST B
To join the internet, the computer has to be connected to a

(A internet architecture board (B) internet society

fﬁ/ intermet service provider (D) none of these

207

143, Uh WHE SHISH %¢q$$ﬁ|ﬁm%ﬁ2ﬁéaﬁaﬁammwmm

Internet access by transmitting digital data over the wires of a local telephone

network is provided by

(A) leased line W digital subscriber line

(C) digital signal line none of the mentioned

14.;4. ISP T Seam ¥ A A S WWW%
(A) internet exchange point (B) subscriber end point
(C) isp end po‘int . (D) 371'1-)( q T?'ﬁé Ter
ISP exchanges internet traffic between their networks by
(A) internet exchange point (B) subscriber end point

isp end point (D) none of these

145, ﬁmﬁiﬁaﬁﬁ@ﬁﬂmtﬁaﬁﬂéﬂﬁzﬁwﬁﬂﬂﬁmw% ?

(A} HiITP ' J(B) DHCP

(©) ~ DNS | D) T @ HIE I

.....................................................................................................................
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Which one of the following protocols is not used in internet ?
_Af  HTTP , B) - pHcP

. () D_NS D) “ None of these
146. IPv6 address T 3R €

@A) 329k B 649€
©) 128%k D) 2659
IPv6 address has a size of

‘A)  32bits B 64 bits

/%/ 128 bits D)} 265 bits

147. Internet SH &HAl g
(A) packet switching W
(B) circuit switching ®
(C) packet switching 74T circuit switching 31 T
D) THEI=E T
Internet works on 3
W packet switching
(B) circuit switching!
% both packet switching and circuit switching
-

(D)  none of these

148. ﬁﬂﬁf@ﬁﬁ@mﬁmﬁmﬁﬁﬁaﬁAppucaﬁonhyermqﬁ
€ ?

(A) remote procedure call (B) internet relay chat

[C) resource reservation protocol ﬁ/ = q HI T

-------- . SETTTRSY
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Which one of the following is not an application layer protocol used in internet ?

(A) Remote procedure call (B) Internet relay chat -
(C) Resource reservation protocol (D)  None of these

149, T W WEHE, T A I[§ Client F IP Address ¥&T HTdl T ?
(A) DHCP B IP
(© RPC D) Y HE T

Which protocol assigns IP address to the client connected in the internet ?

(A) DHCP &Y/ IP

(C) RPC (D)  None of these
150. Media Access Control § Frefeifad & & fre suam =&t e St & 2
(A) ethernet
(B) digital subscriber line -
(C) fiber distributed data interface
D) T | 3% T
Wimich one of the following is not used in media access control ?
(A) Etherngt
(B) Digital subscriber line
% Fiber distributed data interfa.ce

(D)  None of these
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